Q1.

Q2.

Q3.

Q4.

Q5.

Profit, Loss & Discount

By selling a cap for Rs. 34.40, a man gains
7.5% . What will be the CP of the cap ?

(a) Rs.32.80

(b) Rs.32

(¢) Rs.32.40

(d) Rs.28.80

A machine costs Rs. 375. If it is sold at a
loss of 20%, what will be its cost price as
a percentage of its selling price ?

(a) 80%

(b) 120%

(c) 110%

(d) 125%

A shopkeeper sold goods for Rs. 2400 and
made a profit of 25% in the process. Find
his profit percent if he had sold his goods
for Rs. 2040.

(a) 6.25%

(b) 7%

(c) 6.20%

(d) 6.5%

A digital diary is sold for Rs. 935 at a
profit of 10% . What would have been the
actual profit or loss on it, if it had been
sold for Rs. 8107

(a) Rs.45

(b) Rs. 40

(c) Rs.48

(d) Rs.50

A man sells a TV set for Rs. 3450 and
makes a profit of 15%. He sells another
TV at a loss of 10%. If on the whole, he
neither gains nor loses, find the selling
price of the second TV set.

(a) Rs. 4000

(b) Rs. 4400

(¢) Rs.4050

(d) Rs.450

Q1.

Q2.

Q3.

Q4.

Q5s.

34.40 TUF H Ueh MUt 99 X, Ueh AT ohl
7.5% ST AT BT € | E1UT ST CP ST ERT 2

(@) Rs.32.80

() Rs.32

(¢) Rs.32.40

(@) Rs.28.80

Teh YN &t HIAd 375 SO & | 7S 2/ 20% HF
T U ST ATl 8, 1 5k ferehel Her & wiferora
& & H ST el o ST BT 2

@ 80%

B) 120%

© 110%

@ 125%

Teh GRMER = 2400 HUI B HIH ST 31 25%
ST ATH HHTAT | e SHA 37T |HTT 2040 FUH
H ST & T dl SHeRT T U 9T 31T ShitTe |

(@ 6.25%
®) 7%

©) 6.20%
d) 6.5%

e fefSeet St 10% T W) 935 U | A=t
STt 197 ) 810 TUH H ST S@T A H W
AT TS AT BT+ ST &l ?

(@) Rs.45
() Rs. 40
(c) Rs.48
(d Rs.50

Teh e T TV A 3450 FUI § o=l & 31N
15% HT AT HHTAT T 1 9E Th 3T TV 10%
BT+ O Serelt 2 | Afe et firetren, S& < o o
AT T & Tf, AW TV | o faewar
e A it |

(@) Rs. 4000

() Rs. 4400

(¢) Rs. 4050

(d) Rs. 450
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Q 6. A makes an article for Rs. 120 and sellsit Q6. A 120 mﬁwa@m% 3RS 25% %
to B at a profit of 25%. B sells it to C who T T B I AFarTe | B 39 C S aaar e, sirsq
sells it for Rs. 198, making a profit of 198 E‘ﬁ‘ﬁ‘aﬂ?ﬂ%‘, S8 10% 'cFI‘ET‘JT%ﬁ?lT%I
10%. What profit percent did B make ? B A fera=r ufesra ey swAT=Em ?

(@) 25% (@) 25%

(b) 20% (b) 20%

(c) 16.66% (c) 16.66%

(d) None of these (@) TTH YR T

Q7. A shopkeeper bought locks at the rate of Q7. Teh GohlAQ T34 FUA H 8 dTA T a¥ q qre
8 locks for Rs. 34 and sold them at the LG 3ﬁ'{‘3% 57 FUA | 12 ATA ot X F o
rate of 12 locks for Rs. 57. Calculate his T | 3T AT UfaoTd Sl MUHET R |
gain percent.

(@) 9.33% (@) 9.33%

(b) 11.11% (b) 11.11%

(c) 11.76% (c) 11.76%

(d) None of these (d) ‘s’qﬁﬁqﬁﬁqﬁ

Q8. A shopkeeper purchases two radio sets Q8. Teh gehldgR 1000 maﬁﬁmwm
for Rs. 1000 each. He sells the first radio B OE Uge AEAT 10% S0 WX ST T 10%
at 10% profit and second one at 10% loss. WW@W%IWWWW?&W
Find his overall profit or loss percent. Elﬁiﬁﬁ-l@fl
(a) 1% profit (@) 1% <4
() 1% loss (b) 1% B
(¢) Neither loss nor gain (c) T ™ ﬁ?‘lﬁ‘b’ﬁ
(d) Can't say (d) O HBI TG ST Fehell

Q9. A shopkeeper sells two TV sets for Rs. 12000 Q9. U TohMaER & <ral ¥ H H Ueddh @l 12000
each. He sells one at a profit of 20% and the E‘R}'ﬁ'a?ﬁﬂé'l a%'QEFEFﬁ 20% o T T 3R
other at a loss of 20%. Find his profit or loss @i‘ I 20% <ht BT UT ST 21 113 Ao |
percent in the whole transaction. WW‘&TWWWW |
(a) 4% gain (@) 4% <4
(b) 4% loss (b) 4% B
(¢) Neither gain nor loss (c) Tl o 3R TR B
(d) None of these (d) TTH Y HE T

Q10. A shopkeeper sells two TV sets for Rs. 12000 Q 10. U TohMER & <ral ¥ ® H Uedeh @l 12000
each. He sells one at a profit of 20% and the Wﬁﬁw%l a%'QEFEﬁ 20% o T T 3R
other at a loss of 10%. Find his profit or loss @i‘ I 10% <ht BT OT ST 21 113 Ao |
percent in the whole transaction. WWWE&WWW |
(a) 8% gain (@) 8% <Y
(b) 8% loss (b) 8% Bl
(c) 2.85% gain (c) 2.85% <4
(d) None of these (@) TTH YR T
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Q11.

Q12.

Q 13.

Q 14.

Q 15.

The cost price of SO mangoes is equal to
the selling price of 40 mangoes. Find the
profit percent.

(a) 20%

(b) 25%

(c) 15%

(d) None of these

A shopkeeper claims that he sells his
goods at cost price but he cheats in weight
by 10%. Find his actual profit percent.

@ 11.11%
(b)) 22.22%
(c) 10%

(d) Can't say

A shopkeeper claims that he sells his
goods at cost price but he cheats in weight
by 10% while selling and purchasing
both. Find his actual profit percent.

@ 11.11%
(b)) 22.22%
(c) 10%

(d) Can't say

A shopkeeper claims that he sells his
goods at 10% profit but he also cheats in
weight by 20%. Find his actual profit
percent.

(a) 37.5%

(b) 30%

(c) 27.5%

(d) None of these

A man sells an article at 5% above its cost
price. If he had bought it at 5% less than
what he paid for it and sold it for Rs. 2
less, he would have gained 10%. Find the
cost price of the article.

(a) Rs.500

(b) Rs. 360

(¢) Rs.400

(d) None of these

Q11.

Q12.

Q 13.

Q 14.

Q 15.

50 MW T T TET 40 3THI o faeha 7ed &
SIS & | AT 9T Tl ehifTe.

(a) 20%
(b) 25%
(c) 15%

(d) TTH QU HE TE

Teh GeRIEN T STal ¢ Teh &€ 3701 |Ta oieTa
Ued T Ol ¢ e o oSt | 10% hl
LRETISY ST B | SHHT aTEdATaeh T ferore
A SIS |

@ 11.11%

() 22.22%

(c) 10%

(d) TE T Fehd

Teh GeRMER oh 2T @ Toh o 3TOHT | oInTd
T U ST ¢ Tifeh g oreld 31 Tied T8
FSTH 10% T SNETTS FHAT | SHHT ATEA TR
AT UTT9Ta AT it |

@ 1M.11%
() 22.22%
(c) 10%

(d) ~TE e Fehd

Teh GRS ol 2TAT & feh a8 10T 9 10%
T WY S=dl & AT 98 g § 20%
AT oft AT | ST ATt aeh AT UfegTa
AT RIS |

(@ 37.5%
(b) 30%
© 27.5%

(d) TTH Y DE T

Teh AR Teh I hl 3Tk AN I | 5%
feres T SreraT € | f SH 39k fore yarar
AT 5% A T T o7 R TH 2 T wu o
ST AT IH 10% <hT AT BT | T T ol 7o
A RIS |
(@) ¥.500
(h) ¥.360
(c) ¥.400

(d) TH W HE TE
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Q 16.

Q 17.

Q 18.

Q 19.

Q 20.

04

Rakesh had money to buy 8 mobile
handsets of a specific company. But the
retailer offered a very good discount on
that particular handset. Rakesh could
buy 10 mobile handsets with the amount
he had. What was the discount the
retailer offered ? UPSCPT 2019
(@) 15%
(b) 20%
(c) 25%
(d) 30%

A shop
discount options on an article to a

owner offers the following

customer:

(a) Successive discounts of 10% and 20%,
and then pay a service tax of 10%.

(b) Successive discounts of 20% and 10%,
and then pay a service tax of 10%.

(c) Pay a service tax of 10% first, then
successive discounts of 20% and 10%.

Which one of the following is correct ?
UPSC PT 2020

(a) 1only is the best option for the customer.

(b) 2 only is the best option for the customer.

(¢) 3only isthe best option for the customer.

(d) All the options are equally good for the

customer.

Find a single discount equivalent to the

discount series of 20%, 10%, 5%.

(a) 30%

(b) 31.6%

(c) 32.6%

(d) None of these

The marked price of a table is Rs. 1200,
which is 20% above the cost price. It is
sold at a discount of 10%. Find the profit
percent.

(a) 10%

(b) 8%

(c) 8.33%

(d) None of these

Profit, Loss & Discount

Q 16.

Q 17.

Q 18.

Q 19.

Q 20.

TIRYT S UTH Uk TS Uit o 8 HiaTee e29e
T & fT 1R o | AfeeT Reer 3 39 fagiw
AT U g IS YT Tl AITRIT Y | THIT
I ST TRT off SHA o7 9% 10 WA 1Sqe
TiE WehdT o | e fershar gRT <t 18 92 o=
oft ? UPSC PT 2019

(@) 15%
(b) 20%
(c) 25%
(d) 30%

Tk TR hT HITeTeh Ueh TTeeh hl Teh a&] WX
frafeafiaa ge foehed wem T 2: T A @i
T SR §
(@) 10% 3R 20% < itk Be, 3R R 10% HaT
TR T A R |
(b) 20% SR 10% ol hiteh B2, AR B 10%
e R T T B |
(c) TEA 10% Tl T hl YA L 20% 3R 10%
Sl Shiteh B2 |
ﬁwww%
ﬁ%@ﬁﬁﬁﬁﬁ‘ﬂﬁ%’
UPSC PT 2020
(a) TTEeh o foTT shaet 1 €1 T 31=s1 fashea 2 |
(b) hae 2 UTEeh o foTT T 371 fashed ¢ |
(c) hael 3 UTEeh o I8 T 371 faehed ¢ |
(@) G ferehed Ueeh & [ g9 S0 4 a0 B |

20%, 10%, 5% St Y€ JEET o SRR TeheT TE
@i |

(@ 30%

(b) 31.6%

© 32.6%

(d) TH 9 HE TE

Teh 2o T 3ifehd Hed &, 1200, ST @R 96
A 20% 1Rreh €15/ 10% o P& T o= ST 2 |
TS U9 ST Shifota.

(a) 10%
(b) 8%
(c) 8.33%

(@) T 9 HE TE




Q21.

Q 22.

A shopkeeper marks the price of an
article at Rs. 80. Find the cost price if
after allowing a discount of 10% he still
gains 20% on the cost price.

(a) Rs.53.33

(b) Rs.70

(¢) Rs.60

(d) None of these

A whole-seller allows a discount of 20%
on the list price to a retailer. The retailer
sells at 5% discount on the list price. If
the customer paid Rs. 38 for an article,
what profit is made by the retailer ?

(a) Rs.10

(b) Rs.8

(¢) Rs.6

(d) None of these

Q21.

Q 22.

Teh SHIMER Ueh o] o1 Yo . 3Tk wlar 21
80. AT ol T o ATS 10% i TE oA H A
ot IR ANTT HeoT WX 20% SHTATH BT S |

(a) Rs.53.33
(b) 70
(c) 60

(d) TTH Y HE T

Teh elieh Tashdl Ueh T faehdT ol et 7o W
20% ot P ST & | T FeTshelT Tl Joa W 5%
P W ST 8 | TS UTgeh 1 5. Teh o o TeT 38,
T FerdhalT Bl FeRa T AT BT 8 2

(@) Rs.10
() Rs.8
(c) Rs.6

(@) T 9 HE TE
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